27) X7 50:7;:—,\/ m\-’—/

:; ; ; An,\/%/—//"//\’ﬂ/
- L& Ly 7 1) / A7 VY

--/\/71
, /

A 4 ;, 4/\’:7
¥ ~Tig g
L /
_:-><}?:o7yf,7
) 2ot X7 Lo o, G fon Tiiatny, P00
);7:1‘ Yz é%‘z\’/ﬁf 7

f’/WM/"‘ﬂ?‘-% ﬂé
) Ar\/\/vf/( 05)(1‘/0/7

4%» /@m/) Y- V3G 2 Tl = TR st
LO6R) 216G = J7x/ST S5 /

072/"/\/ 47&0%@?‘
o oo oo -/
‘o,/g?p /6s -9
il W 0= 5(32)uf => f = -*4°
B g% & 4r e T ;—5‘/7(6) ©-37°C

Sep 14 55 om = . é’i”é _ag Yk ﬁ
%4 -Qz\’:'/./ﬂ"—{/{ -
¢ omag ek O
‘ ) "Ié‘ [ eenld ” ,
///pé :/’;7 Ay W&AW%/WW/@ A/Mm 7




Seer 1y ;eg/’/;) £ /JM_L\,)Z

A Z+/p74+—__(,4_7</ §_ 4. /7/%54“7//]4 //%%xfy b
A=0 % ,4"90' L=

LF) @7"/'“»\/@/4"/

=), At 2, (é‘ZL/

4—*0' A= s

ﬁ%f{ 5 sl <
0//'/ {//%KLK/) &zf—fé/__z_f

f))/_d‘/ /Y %‘r/(' 7 4‘>z

.t»d

S T H )= L‘%‘/fi /

) £ Y. ! ) (m/u_/ g bal ]




77 o Ag 747‘*%7/.50;;({// :Z
< -
77@«; cmx il = T Sere 6761)//54 ‘/
Y= N2 > L ==()
7. ;/:7—/&
’\(;m&/‘ az /x)’f&: 7/\’—/0
TZco o7 7061) 2 702000)-16 =% 007
e 7 1,.599)% 7079916 = /3,573

%) T S amale T fo é&/rc, wont Cos 7 Gro B 28
MWW’M W wﬂ//ﬁ/ Z
J:c '

Y

3) o g% S T /g, )--3
%{4):‘x¢(/ CW%W%"

) [, e fW =~ /A/):J}f// )= et o,
f&)5>2:417), f/?‘?/z):// 7/,& /¢4

'

5‘)/@,"&.;1’/\/)?& AZ/A;%:« M.W%cfy’ Sener K
MZ /;)»g;'“f’” 7 7’:@“@‘% =




